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TAX PLANNING AND MANAGEMENT 

Time : Three Hours ]  [ Maximum Marks : 80 

uksV % funsZ’kkuqlkj lHkh [k.Mksa ds mŸkj nhft,A 

 Attempt all Sections as directed. 

 [k.M&v izR;sd 1  

(Section—A) 

oLrqfu”B@cgqfodYih; iz’u 

(Objective/Multiple Choice Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A 

 Attempt all questions. 

lgh mŸkj dk p;u dhft, % 

Choose the correct answer : 

1- QeZ dks gkfu dh n’kk esa lk>snkjksa dks osru % 

¼v½ iw.kZ Lohd`r gksrk gS 
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¼c½ vLohd`r gksrk gS 

¼l½ 1]50]000 rd Lohd`r gksrk gS 

¼n½ va’kr% Lohd`r gksrk gS 

Salary to partners in case of loss is : 

(a) Fully allowed 

(b) Disallowed 

(c) Allowed upto ` 1,50,000 

(d) Partly allowed 

2- lk>snkjksa dks iw¡th ij 
-------------------

 rd C;kt Lohd`r gksrk gSA 

¼v½ 18% 

¼c½ 15% 

¼l½ 12% 

¼n½ 10% 

Interest on capital of partners is allowed a .............. . 

(a) 18% 

(b) 15% 

(c) 12% 

(d) 10% 

3- QeZ ;k dEiuh dh n’kk esa vk;dj fooj.kh izLrqr djus dh ns; frfFk 

gksrh gS 
-----------------------------

A 

¼v½ 30 twu 

¼c½ 30 flrEcj 

¼l½ 31 tqykbZ 

¼n½ 31 fnlEcj 
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Due date of filing of return in case of a firm or  

company ............. . 

(a) 30th June 

(b) 30th September 

(c) 31st July 

(d) 31st December 

4- MAT dks fdl /kkjk esa ifjHkkf”kr fd;k x;k gS \ 

¼v½ 115 BBF 

¼c½ 115 BBD 

¼l½ 115 JAA 

¼n½ 115 JB 

MAT is defined u/s : 

(a) 115 BBF 

(b) 115 BBD 

(c) 115 JAA 

(d) 115 JB 

5- Lo;a dj&fu/kkZj.k dh /kkjk gS % 

¼v½ 140 

¼c½ 140 A 

¼l½ 143 

¼n½ 144 
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Section of self assessment is : 

(a) 140 

(b) 140 A 

(c) 143 

(d) 144 

6- cSad ds lkFk LFkk;h tek dh jkf’k 
---------------------------

 ls vf/kd gksus ij LFkk;h 

[kkrk la[;k fy[kuk vfuok;Z gSA 

¼v½ ` 25,000 

¼c½ ` 50,000 

¼l½ ` 10,000 

¼n½ ` 20,000 

PAN must be quoted when the fixed deposit with the bank 
exceeds ................. . 

(a) ` 25,000 

(b) ` 50,000 

(c) ` 10,000 

(d) ` 20,000 

7- O;fDr dh n’kk esa vk;dj fooj.kh nkf[ky djus dh ns; frfFk gS % 

¼v½ 30 twu 

¼c½ 31 tqykbZ 

¼l½ 31 vxLr 

¼n½ 30 flrEcj 
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Due date for filing return of Income in case of an individual 

is : 

(a) 30th June 

(b) 31st July 

(c) 31st August 

(d) 30th September 

8- 
---------------------- 

dks LFkk;h [kkrk la[;k izkIr djuk vfuok;Z gSA 

¼v½ vk;dj nkrk 

¼c½ vk;krd 

¼l½ lsok ‘kqYd ds vUrxZr djnkrk 

¼n½ mi;qZDr lHkh 

Getting permanent account number is compulsory for : 

(a) Income tax assessee 

(b) Importer 

(c) Assessee under service tax 

(d) All of the above 

9- gkfu dh lwpuk dh /kkjk gS % 

¼v½ 153 

¼c½ 154 

¼l½ 156 

¼n½ 157 
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Intimation of loss is served under which section ? 

(a) 153 

(b) 154 

(c) 156 

(d) 157 

10- dj fu;kstu dk mís’; gS % 

¼v½ dj pqdkus ls cpuk 

¼c½ dj nkf;Ro dks U;wure djuk 

¼l½ le; ij dj pqdkuk 

¼n½ dj dks Vkyuk 

Object of tax planning is : 

(a) Avoidance of tax 

(b) Minimise of tax liability 

(c) Payment of tax at time 

(d) Deferment of tax 

11- dEifu;ksa dh vk; ij yxus okyk dj gksrk gS % 

¼v½ vk;dj 

¼c½ fuxe dj 

¼l½ dEiuh dj 

¼n½ mi;qZDr lHkh 

Tax on company’s income is called : 

(a) Income Tax 

(b) Corporate Tax 

(c) Company Tax 

(d) All of the above 
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12- u;s O;olk; dh LFkkiuk ds lEcU/k esa egRoiw.kZ fcUnq 
-----------------------------

A 

¼v½ O;olk; dk LFkku 

¼c½ O;olk; dh izd`fr 

¼l½ O;olk; dk Lo:i 

¼n½ mi;qZDr lHkh 

Important point regarding setting up of a new business 

................. . 

(a) Location of business 

(b) Nature of business 

(c) Form of business 

(d) All of the above 

13- mn~xe LFkku ij dj dh dVkSrh dh tkrh gS % 

¼v½ HkqxrkudŸkkZ }kjk 

¼c½ ljdkj }kjk 

¼l½ vk;dj foHkkx }kjk 

¼n½ vk;dj nkrk }kjk 

Tax deducted at source made by : 

(a) Person making payment 

(b) Government 

(c) Income tax department 

(d) Income tax payer 
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14- ,sls en ftu ij mn~xe LFkku ij dj laxzg fd;k tkrk gS % 

¼v½ Vksy Iyktk 

¼c½ rsUnw iŸkk 

¼l½ LØSi 

¼n½ mi;qZDr lHkh 

The items on which tax is collected at source : 

(a) Toll plaza 

(b) Tendu leaves 

(c) Scrap 

(d) All of the above 

15- osru ij mn~xe LFkku ij dj dh dVkSrh gsrq ykxw /kkjk 
-------------------------------

A 

¼v½ 192 

¼c½ 192 A 

¼l½ 193 

¼n½ 194 

On salaries, TDS according to provisions of Sec. ................ .  

(a) 192 

(b) 192 A 

(c) 193 

(d) 194 
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16- jke dks 20 ekpZ dks nh?kZdkyhu iw¡thxr ykHk gqvkA mls bl jkf’k ij 

vfxze dj pqdkuk gksxk % 

¼v½ 15 flrEcj rd 

¼c½ 15 fnlEcj rd 

¼l½ 15 ekpZ rd 

¼n½ 31 ekpZ rd 

Ram earned long-term capital gains on 20th March. He will 
pay advance tax on this amount : 

(a) Up to 15th September 

(b) Up to 15th December 

(c) Up to 15th March 

(d) Up to 31st March 

17- vfxze dj pqdkus dk nkf;Ro mRiUu gksrk gS] ;fn dj dh jde 

fuEufyf[kr gS % 

¼v½ ` 3,000 

¼c½ ` 5,000 

¼l½ ` 5,000 ;k blls vf/kd 

¼n½ mi;qZDr esa ls dksbZ ugha 

The liability of payment of advance tax arises if the amount 
of tax is the amount given below : 

(a) ` 3,000 

(b) ` 5,000 

(c) ` 5,000 or more 

(d) None of the above 
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18- 1 vizSy] 2001 ls iwoZ izkIr cksul va’kksa dh izkfIr dh ykxr 
------------------------------

 

ekuh tkrh gSA 

¼v½ ‘kwU; 

¼c½ 1 vizSy] 2001 dk mfpr cktkj ewY; 

¼l½ okLrfod ykxr ewY; 

¼n½ mi;qZDr esa ls dksbZ ugha 

The cost of acquisition of bonus shares received before Ist 
April, 2001 is deemed to be ................ . 

(a) Nil (zero) 

(b) Fair market value of 1st April, 2001 

(c) Actual cost price  

(d) None of the above 

19- ?kjsyw dEiuh }kjk va’k/kkfj;ksa dks forfjr ykHkka’k ij fdl nj ls 

vfrfjDr dj pqdkuk gksrk gS \ 

¼v½ 10% 

¼c½ 15% 

¼l½ 20% 

¼n½ 25% 

What is the rate of additional tax paid by a domestic 
company as dividend distributed ? 

(a) 10% 

(b) 15% 

(c) 20% 

(d) 25% 
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20- vUrj&fuxfer ykHkka’k ds lEcU/k esa /kkjk 
-----------------------------

 gSA 

¼v½ 80 C 

¼c½ 80 G 

¼l½ 80 M 

¼n½ 80 U 

Inter-corporate dividend is done under which Section ? 

(a) 80 C 

(b) 80 G 

(c) 80 M 

(d) 80 U 

 [k.M&c izR;sd 2 

(Section—B) 

vfry?kq mŸkjh; iz’u 

(Very Short Answer Type Questions) 

uksV % fdUgha vkB iz’uksa ds mŸkj nks ;k rhu okD;ksa esa nhft,A 

 Attempt any eight questions in 2 or 3 sentences. 

1- lfØ; lk>snkj D;k gS \ 

What is working partner ? 

2- ?kjsyw dEiuh ls D;k vk’k; gS \ 

What is meant by Domestic Company ? 
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3- vuqdYih U;wure dj ds fy, ØsfMV D;k gS ¼/kkjk 115 JD½ \ 

Explain credit for Alternate Minimum Tax (Sec. 115 JD). 

4- gkfu dh lwpuk ls le>kb;s ¼/kkjk 157½A 

Explain Intimation of Loss (Sec. 157). 

5- varfje ykHkka’k fdls dgrs gSa \ 

What is Interim Dividend ? 

6- dj cpko D;k gS \ 

What is Tax Avoidance ? 

7- vkns’kksa ds iqufoZyksdu dks le>kb;sA 

Explain Review of Orders. 

8- foyfEcr fooj.kh D;k gS \ 

What is ‘Belated Return’ ? 

9- dc ,d O;fDr vfxze dj pqdkus ds fy, nk;h gS \ 

When a person is liable to pay advance tax ? 

10- vUrj&fuxfer ykHkka’k dks le>kb;sA 

Explain inter-corporate dividends. 

 [k.M&l izR;sd 3 

(Section—C) 
y?kq mŸkjh; iz’u 

(Short Answer Type Questions) 

uksV % fdUgha vkB iz’uksa ds mŸkj nhft,A vf/kdre ‘kCn lhek 75 ‘kCnA 

 Attempt any eight questions. Maximum word limit  
75 words. 

1- lfØ; lk>snkj dks D;k lqfo/kk,¡ gSa \ 

What privileges are enjoyed by a working partner ? 



 [ 13 ] E–108 

 P. T. O. 

2- X, Y rFkk Z ,d QeZ esa cjkcj ds lk>snkj gSaA 31&03&2020 dks 

lekIr gksus okys o”kZ ds fy, ykHk&gkfu [kkrs }kjk iznf’kZr ‘kq) ykHk 

2]80]000 gS tks X dks 20% dh nj ls 7]000 C;kt] Y dks Hkqxrku 

fd;k x;k ` 60]000 dk osru rFkk Z dks O;kikfjd Hkou dk  

` 44]000 fdjk;k ?kVkus ds ckn dk gSA QeZ ds iqLrd ykHk dh x.kuk 

dhft,A QeZ /kkjk 184 dh ‘krs± iwjh djrh gSA 

X, Y and Z are partners of a firm with equal shares. The 

profit and loss account for the year ended 31-03-2020 shows 

a net profit of 2,80,000 after debiting ` 7,000 for interest 

paid to X at 20%; ` 60,000 for salary paid to Y and ` 44,000 

for rent of the business premises paid to Z. Compute the 

book profit of the firm. The firm fulfils the conditions of 

Section 184. 

3- D;k gkfu dh fooj.kh nkf[ky djuk vfuok;Z gS \ 

Is it mandatory to file a return of loss ? 

4- ,sls en fyf[k, ftu ij mn~xe LFkku ij dj laxzg fd;k tkrk gSA 

Mention the items on which tax is collected at source. 

5- Jh ywFkjk dks foŸkh; o”kZ 2020&2021 esa ` 40]000 vfxze dj ds :i esa 

nsus gSaA fu/kkZfjr frfFk;ksa ij ns; vfxze dj jkf’k dh x.kuk dhft,A 

Shri Luthara has to pay ` 40,000 as advance tax during the 

financial year 2020-2021. Determine the amount payable as 

an advance tax on prescribed dates. 
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6- dj fu;kstu dh leL;kvksa dk o.kZu dhft,A 

Describe the problems of Tax Planning. 

7- izkd`frd xSl ds O;olk; ls lEcfU/kr dj fu;kstu ds izko/kkuksa dks 

crkb,A 

Explain the tax planning provisions in respect of business of 
Natural Gas. 

8- ykHkka’k ls vk; ds lEcU/k esa fu;eksa dk o.kZu dhft,A 

Describe the rules regarding to dividend income. 

9- fuEu lwpukvksa ls ,d Hkkjrh; dEiuh }kjk] dj&fu/kkZj.k o”kZ 

2020&2021 ds fy, ns; dj dh x.kuk dhft, % 

  ` 

(i) O;olk; ls vk; ¼xr o”kZ 2017&18 esa dEiuh 

dk vkorZ ` pkj lkS djksM+ ls de Fkk½ 

20,00,000

(ii) fofufnZ”V fons’kh dEiuh ls izkIr ykHkka’k 5,00,000

(iii) vU; lk/kuksa ls vk; 1,00,000

  26,00,000

From the following information compute tax payable by an 
Indian Company for the Assessment Year 2020-2021 : 

  ` 

(i) Business Income (Turnover in the P. Y. 
2017-18 was less than ` 400 crore) 20,00,000

(ii) Dividend received from specified 
foreign company 5,00,000

(iii) Income from other sources 1,00,000

  26,00,000
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10- ^dj cpko* ,oa ^dj vioapu* esa vUrj crkb,A 

Distinguish between ‘Tax Avoidance’ and ‘Tax Evasion’. 

 [k.M&n izR;sd 5 

(Section—D) 

nh?kZ mŸkjh; iz’u 

(Long Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A xf.krh; izo`fŸk ds iz’uksa dks NksM+dj 

vU; iz’uksa dk mŸkj yxHkx 150 ‘kCnksa esa nhft,A 

 Attempt all questions. Each question except numerical 

nature is to be answered in about 150 words. 

1- ,d is’ksoj lk>snkjh QeZ dk ykHk&gkfu [kkrk fuEufyf[kr gS % 

 `  ` 

dk;Z’khy lk>snkjksa 

dk osru 1,00,000 

ldy ykHk 

edku lEifŸk ls 

1,21,000

vU; O;; 1,50,000 fdjk;k  10,000

x`g dj 2,000 iw¡th ykHk 20,000

  ‘kq) gkfu 1,01,000

 2,52,000  2,52,000

vU; O;;ksa esa ` 20]000 ds O;; dVkSrh ;ksX; ugha gaSA dj&fu/kkZj.k o”kZ 

2020&21 ds fy, QeZ dh dqy vk; Kkr dhft,A 
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The Profit & Loss account of a professional partnership firm 

is as follows : 

 `  ` 

Remuneration to 

working partners 

as per deed 1,00,000

Cross Profit 

 

Rent from house 

1,21,000

Other Expenses 1,50,000 property 10,000

House Tax 2,000 Capital Gains 20,000

 Net Loss 1,01,000

 2,52,000  2,52,000

Out of other expenses ` 20,000 are not deductible.  

Compute the total income of the firm for the assessment year 

2020-21. 

vFkok 

(Or) 

dj&fu/kkZj.k dh fofHkUu fof/k;ksa dks la{ksi esa le>kb;sA 

Explain briefly the different types of assessment. 
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2- ,d Hkkjrh; dEiuh dk 31 ekpZ] 2020 dks lekIr gksus okys xr o”kZ 

dh vk; dk fooj.k fuEufyf[kr gS % 

  ` 

(i) ,d vuqeksfnr /kekZFkZ laLFkk dks psd }kjk fn, 

x, nku ds ` 50]000 ?kVkus ds i’pkr~ O;kikj 

dk ykHk 5,70,000

(ii) ljdkjh izfrHkwfr;ksa ls C;kt 7,000

(iii) ,d ?kjsyw dEiuh ls ykHkka’k 89,500

(iv) ,d fons’kh dEiuh dks rduhdh Kku iznku 

djus ds cnys esa jkW;YVh 60,000

(v) tqykbZ] 2017 esa izkjEHk eqxhZ ikyu O;kikj ls 

vk; 1,00,000

dEiuh dh dqy vk; ,oa dj&nkf;Ro fuEufyf[kr ckrksa dks /;ku esa 

j[krs gq, Kkr dhft, % 

¼v½ O;kikj ds ykHk esa fu;kZr O;kikj ds ykHk ` 80]000 ‘kkfey gSaA 

¼c½ dEiuh us bl o”kZ dksbZ ykHkka’k ?kksf”kr ugha fd;k gSA 
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Following are the income particulars of an Indian company 
for the previous year ended 31st March, 2020 : 

  ` 

(i) Business profits after deducting donation 
by cheque ` 50,000 to approved 
charitable institution 5,70,000

(ii) Interest on Government Securities 7,000

(iii) Dividend from a domestic company 89,500

(iv) Royalty from a foreign company in 
consideration of providing technical 
knowledge 60,000

(v) Income from the business of poultry 
farming commenced in July, 2017 1,00,000

Compute company’s total income and tax liability 
considering the following points : 

(a) Business profit include ` 80,000 of export business. 

(b) The company has not declared any dividend during the 
year. 

vFkok 

(Or) 

u;s O;olk; dh LFkkiuk djrs le; dj fu;kstu dh n`f”V ls 

fdu&fdu fcUnqvksa ij fopkj fd;k tkuk pkfg, \  

Which points should be considered from the point of view of 
tax planning before setting up of a new business ? 
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3- fuEufyf[kr n’kkvksa esa foŸk o”kZ 2020&21 esa mn~xe LFkku ij dj dh 

dVkSrh dh jkf’k crkb, ;fn izkIrdŸkkZ Hkkjr esa fuoklh ,d O;fDr gS % 

  ` 

(i) izfrHkwfr;ksa ¼lwphd`r½ ij C;kt ls vk; 

¼1&6&2020½ 6,000

(ii) ykWVjh ls thr 500

(iii) ykHkka’k&?kjsyw dEiuh ls 40,000

(iv) ?kqM+nkSM+ ls thr 20,000

(v) nwljh ¼vU;½ ?kqM+nkSM+ ls thr 2,000

(vi) ykWVjh ,tsUV dks deh’ku ¼1&5&2020½ 25,000

(vii) chek deh’ku ¼15&4&2020½ 34,000

During the Financial Year 2020-21 find out the tax to be 
deducted at source in the following cases, if the recipient is 
an individual and resident in India : 

  ` 

(i) Income from interest on securities 
(Listed) (1-6-2020) 6,000

(ii) Payment regarding lottery winnings 500

(iii) Dividends from domestic company 40,000

(iv) Winning from a horse race 20,000

(v) Winning from another horse race 2,000

(vi) Commission to lottery agent  
(1-5-2020) 25,000

(vii) Insurance Commission (15-04-2020) 34,000
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vFkok 

(Or) 

^tSls dekvks oSls dj pqdkvks* ;kstuk D;k gS \ blds lEcU/k esa 

vk;dj vf/kfu;e ds izeq[k izko/kku crkb;sA 

What is ‘Pay as you Earn’ Scheme ? Explain the important 
provisions of the Income Tax Act in this connection. 

4- jkds’k dks ` ,d yk[k vfxze dj ds pqdkus FksA mlus fuEu jkf’k;k¡ 

tek djkb±A /kkjk 234 C ds vUrxZr ns; C;kt dh x.kuk dhft, % 

 ` 
15-06-2019 dks 14,000 
15-09-2019 dks 20,000 
15-12-2019 dks 45,000 
15-03-2020 dks 21,000 

Rakesh has to pay ` one lakh as advance tax. He deposited 
the amount as under. Compute interest payable u/s 234 C : 

 ` 
On 15-06-2019 14,000 
On 15-09-2019 20,000 
On 15-12-2019 45,000 
On 15-03-2020 21,000 

vFkok 

(Or) 
fuEufyf[kr ij fVIif.k;k¡ fyf[k, % 

¼v½ ykHkka’k uhfr 

¼c½ cksul va’k 

Write notes on the following : 
(a) Dividend Policy 
(b) Bonus Shares 

E–108   


